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�"�����#�$�%��%�!&�����!'����!��(���' (Survey Research) 67�
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�
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�������� ��
�����<''�����
�������������
�����������
��$������ %�!��"��������$��8!���8�:��$���������&�� '��=��7��$���������&�� 

 
�����������������������    

��$�������������	�'��'(���������$��������������%�!��"��������$��8!���8�:
��$���������&�� '(���� 3,857 �� 7����� 

���:���%�!=���
��8(�%CDE������ '(����  893 �� 
���:���%�!=���
��8(�%C�(��D�C

 '(����  738 �� 
���:���%�!=���
��8(�%C�����!� '(����  957 �� 
���:���%�!=���
��8(�%C�C��8$����� '(����  641 �� 
���:���%�!=���
��8(�%C��78E
 '(����  628 �� 
8����
������� ���
�����;�����67���#�E8���� Yamane  

n          =  N 
 1 + Ne² 
67����  n  = '(�����C�

8����
�� 
 N  =  '(������$���� 
 e  =  ���
�C�7��C;�������C�

8����
�� 
   n  =                    3857 
 1 + 3857(0.5)² 
    = 399 
 


�� ���� ����!�"!��������� 
���;���
;������#�������R%��%��
�#�
EC���������� S7#T�
 T%%��%9�
 (Questionnaire) 

��$��%7#��T%%��%9�
�����C���Y7TC$�C����Y7 Z���T%
���� 4 �
�� 7����� 
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#������ 1 T%%��%9�
�#�
EC����S� �� ��#�
EC�
��%���C���[E#8�%T%%��%9�
 Z���
��$��%7#�� ��� ���� �$7�%������	� ���S7# 8(�T=�
�=�;��9��D������
�� 

#������ 2 T%%��%9�
�#�
EC��������%���
�!7�=R������8!8
�����
�������������
��
��$��%7#�� �#��(�9�
��������% 

1.���#�
EC����� ��<''��D���� S7#T�
 �����8!8
�����
�������� ���
8�$=���9��
��$6���:8
��
����
 TC$���
8�$=���9���<\=����
��;��
6��
���T=C
��
�������� 

2.���#�
EC����� ��<''��D����� S7#T�
 ���S7#��%�#�
EC�
�����7#������
�������� ���
S7#��%������%����'��D����] TC$T[�7(���!�������������� 67�T%%��%9�
������ �T%%
��$
�"�
� (Rating Scale) Z�����$��%7#�� �(�9�
����=
7 30 �#� 67�8���C;����#
�8���7T%% 
Likert Scale 5 �$7�% 7����� 

5 =
��9�� �=R�7#��
�������7 
4 =
��9�� �=R�7#��
�� 
3 =
��9�� �=R�7#������C�� 
2 =
��9�� �=R�7#���#�� 
1 =
��9�� �=R�7#���#�������7 
#������ 3 T%%��%9�
��������%���
��
���
�
�����$������������������
�������� 

Z�����$��%7#�� ��$�7R��(�9�
��������%���
��
���
�
 5 ��$�7R� 7��8
�S���� 
1.�����
��
���
�
������#�=��<\=�TC$��$�7R��<\=��
�
��� 
2.�����
��
���
�
��������T[��
�
��� 
3.�����
��
���
�
������b!%�8!����
�
��� 
4.�����
��
���
�
�����8�7�!��' 
5.�����
��
���
�
�����8!78�
��$�
!�[C�
�
��� 
67�T%%��%9�
������ �T%%��$
�"�
� (Rating Scale) Z�����$��%7#�� �(�9�


����=
7 30 �#� 67�8���C;����#
�8���7T%% Likert Scale 5 �$7�%  
5 =
��9�� �=R�7#��
�������7 
4 =
��9�� �=R�7#��
�� 
3 =
��9�� �=R�7#������C�� 
2 =
��9�� �=R�7#���#�� 
1 =
��9�� �=R�7#���#�������7 



62 
 

 
 

#������ 4 �#�
EC��������%�<\=�TC$������� ��������������
�������� '�����8�%
T%%��%9�
 67��(������7��$�7R��<\=�����=
7 6 ��$�7R� 7����� 

1.�����%�!=��'�7��� 
2.��T=C
��
����������%�!'���
 
3.�����%�!��� 
4.���!��T�7C#�
TC$�D��DE
!����: 
5.������
�������� 
6.����
����T=C
��
�������� 
67�T%%��%9�
������ �T%%��$
�"�
� (Rating Scale) Z�����$��%7#�� �(�9�


����=
7 24 �#� 67�8���C;����#
�8���7T%% Likert Scale 5 �$7�%  
5 =
��9�� �=R�7#��
�������7 
4 =
��9�� �=R�7#��
�� 
3 =
��9�� �=R�7#������C�� 
2 =
��9�� �=R�7#���#�� 
1 =
��9�� �=R�7#���#�������7 
       

���
�'�������("��)�    
��������	� ���
��
���
�
�����
����������������
��������%�!��"������

��$��8!���8�:��$���������&�� ��;���=#S7#�#�
EC���
����
�C�7��C;���'�����
�� �'�!��#�������7
[E#���	�S7#�(�=�7�#�
ECTC$T=C
��#�
EC67������R%8�
��7�
�������$��������
�� 7����� 

 n = Y‚ × 399  
        £X‚ 
67���� n =  '(������7�
�������$��������
�� 
 Y‚ =  '(������$�������T8
C$8(�%C 
 £X‚ = [C��
'( ������$������� ���� �%�! � �"��������$�� 8! ���8�:

��$���������&�� 
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����� 3 �#
���������������#�
#���(���������!������ 

 

���*������+��#�������� ������� �������������� 

DE������ 
�(��D�C

 
�����!� 

�C��8$����� 
��78E
 

893 
738 
957 
641 
628 

92.4 
76.3 
99 
66.3 
65 

��� 3857 399 

  

("��)��0�1)�� (Primary Data)  
�� ������%��
�#�
EC���S7#'����$����TC$��
������������
9��[E#��$��%�����E
��

�;�����%�!��"��������$��8!���8�:��$���������&�� '��=��7��$���������&�� T=C
��
�����������
S7#�(�=�7����%��8������	� Z�����$��%7#�� 

1.���#�
EC�;��]�������$��������
����� ���� �$7�%������	� DE
!C(���� ���S7# 
8(�T=�
� =�;��9��D������
�� 

2.����;�����	���������%���
�!7�=R������8!8
�����
�������������
��%�!��"������
��$��8!���8�:��$���������&�� 

3.����;�����	����
��
���
�
�����
����������������
�������� %�!��"������
��$��8!���8�:��$���������&�� 

4.����;�����	��<\=�TC$������� ��������������
�������� %�!��"������
��$��8!���8�:��$���������&�� 

("��)������1)�� (Secondary Data) 
��;���'���#�
ECT8
C$���
=
�����T���!7 =C����� TC$���:��$��%������
��
��

�
�
�����
�� ������������
�������� 
����
=C��=C�����T���!7 TC$
�'(�����#�
EC
��  
7������ [E#���	�'��S7#
����8��'��%��R%�#�
EC'�������� �!���!
�: =����;� ������TC$����!'�����
�������#��Web-site 8
��j 67���R%��%��
'���"$���
�������(�=�7���&���8�:����
��������
���'��=��7��$���������&�� �(����=#���
�7 ����
��������T=
���$���S�� �E��:����&��
 �D�
��8��=���
 '��=��7��$���������&�� TC$����!��8��:��R7 
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����+*("��)� 

[E#�!'��S7#7(���!�����!����$=:�#�
EC67����8��'��%���
�
%E�":���T%%��%9�

TC$�(�T%%��%9�

�8��'�=#�$T�� �(��#����S7#
��!����$=:8�
�!&��������9!8! ��;���=#S7#�(�8�
8�
��89���$���: TC$�

8!]���������!'��  67��(�����!����$=:7#��6��T��
�(���R'�E�=��
���
�9!8!TC$�(��������E����8������$��%�(�%�����%�8���� 

1.��8��'��%���
�
%E�":���T%%��%9�
T8
C$k%�%���S7#��%�C�%�;�
� 
2.��'�7�(��=����T%%��%9�
8�
����(�=�7��8����T'�T'����
9�� 
3.���(���������#�
EC8�
�=��C���6��T��
�(���R'�E�����9!8! 
4.��8��'��%���
9E�8#������#�
ECTC$T�#S��#�[!7�C�7�����!7'����������#�
EC 
�
����� 1 �#�
EC��������%�<''���
��%���C ��$��%7#�� ��� ���� �$7�%������	� DE
!- 

C(���� ���S7# 8(�T=�
� =�;��9��D������
�� ��#�9!8!��!����"�� (Descriptive Statistic) 
��$��%7#�����T'�T'����
9��  (Frequency Distribution) TC$�����$'���#��C$ 
(Percentage Distribution) 

�
����� 2 ���
�!7�=R������
��8
�����
��������8
����
��
���
�
�������������
�
��������67��(�
�=���$��%7#�����T'�T'����
9�� (Frequency Distribution) TC$���
��$'���#��C$ (Percentage Distribution) �
��kC����C��"!8=�;�
��q!
�C��"!8 (Arithmetic 
mean) TC$�
��%�����%�
�8�]�� (Standard Deviation) 

�
����� 3 ���
��
���
�
�����
����������������
��������67��(�
�=� ��$��%7#��
���T'�T'����
9�� (Frequency Distribution) TC$�����$'���#��C$ (Percentage 
Distribution) �
��kC����C��"!8=�;�
��q!
�C��"!8 (Arithmetic mean) TC$�
��%�����%�

�8�]�� (Standard Deviation) 

�
����� 4 ��;�����	��<\=�TC$���������������������
�������� 67��(�
�=���$��% 
7#�����T'�T'����
9��  (Frequency Distribution)  TC$�����$'���#��C$ (Percentage 
Distribution)  �
��kC����C��"!8=�;�
��q!
�C��"!8 (Arithmetic mean) TC$�
��%�����%�

�8�]�� (Standard Deviation) 

67�T%
��$T���� ��
��j T8
C$�
�� 
����
=
�� 7����� 
�
��kC����$=�
�� 4.51-5.00 =
�����
�
� �=R�7#����E
���$7�%
�������7 
�
��kC����$=�
�� 3.51-4.50 =
�����
�
� �=R�7#����E
���$7�%
�� 
�
��kC����$=�
�� 2.51-3.50 =
�����
�
� �=R�7#����E
���$7�%����C��  
�
��kC����$=�
�� 1.51-2.50 =
�����
�
� �=R�7#����E
���$7�%�#�� 
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 �
��kC����$=�
�� 1.00-1.50 =
�����
�
� �=R�7#����E
���$7�%�#�������7 


